
EL-04/05

Arm Barrier



 

EL-GO TEAM LTD.   www.elgoteam.com 

info@elgoteam.com  Tel: +1-617-963-8338 

 

 
 

 

Specifications for Electric Arm Barrier  

Model: EL-04/05 

 

Electric arm barrier model EL–04/05 developed and manufactured by EL-GO 

TEAM. 

  

Top quality arm barrier up to 6 Meter Arm Length and Suitable for heavy duty 

operation, therefore Functional mostly for Airports / Harbor Entrances, with large 

volume traffic, for passage of authorized vehicles only. 

This lifetime product will never stop working. 

 

Barrier type Electric arm barrier   EL-04/05  Up to 6 M 

arm length 

 

Operation Electric power supply 240V\110V  3 phase 

motor 0.55 KW, No balance spring. 

 

Outdoor protection IP 55 

Dimensions 460mm * 290mm  * 1100mm 

Operating speed 2-6 seconds (adjustable) 

Operational per hr Unlimited (100% duty cycle) 

MCBF 5 Million 

Safety features Road loop detector for cars safety, 

Infrared sensors for pedestrian safety, (2 

units) 

 

Arm pole Aluminum arm Round 3” or rectangular 40x80 

powder coated with red reflector stripes. 

 

Controls Schneider electric AC variable speed drive for 

3 Phase induction motors 

 

Weight 72 Kg (body) + 4 Kg (arm) 

Back Cover                   Black powder coated 1.5mm steel 

Front Cover                  Yellow ABS UV protected 

Body Strong 5mm ST-52 galvanized steel body 

Temperature -20°  to +65° C 

 

Options 

 Operational via mobile phone 

 Operational via magnetic cards /proximity tag 

 Operational via LPR cam 

 Operational via radio receiver 

 Removable arm base 

 Folding arm for low ceilings 

 Electro magnetic locking arm system 

 Opposite support pole 

 Can be synchronized with any access control systems. 

 

 

http://www.elgoteam.com/
mailto:info@elgoteam.com


ALL DIMENSIONS ARE IN MM

Ratio: 

WEIGHT:

Drawned by :

23/11/2011

Designed by : Date Checked by : Date Approved by : Date

TITLE:

Part catalog number
Drawing No. Version

01

Sheet

1 /4 

Date

N/A

EL-GO

MaterialQty. per set Set Qty.

Victor Aynbinder
Victor Aynbinder

22/11/2011

 

EL-04/05 Manual

 Aluminum-

6061

 1 EL-02-121-Ar

m (5 meter)

107

   1 EL-02-120E-A

rm (4 meter)

106

   1 EL-02-120G-A

rm (6 meter)

105

 Steel, MildHex-Head Bolt4 DIN 933 - M5  

x 12

104

 Steel, MildWasher1 DIN 125 - A 23103

 Steel, MildHex-Head Bolt4 DIN 933 - M6  

x 14

102

 Steel, MildWasher8 DIN 125 - A 

5.3

101

 Steel, MildSerrated Lock Washer4 DIN 6798 - A  

3.2

100

 Steel, MildHex Nut1 DIN 934 - M1294

 Steel, MildHex-Head Bolt1 DIN 933 - 

M12  x 110

93

 Steel, MildSpring Washer1 DIN 128 - A1292

 Steel, MildWasher2 DIN 125 - A 1391

 Default 1 EL-00-c1390

 ST 52 1 EL-00-c11-Si

mple

89

 Steel 8 Self tapping 

screw #10 

L=0.75 inch

88

 Steel, MildBroached Socket Head Cap Screw - Metric4 ANSI 

B18.3.1M - 

M8x1.25 x 16

87

 ST 37Rectangular arm holder1 EL-00-702-Ar

m  holder

86

 ABS 

Plastic

Arm plastic cap4 1449034 - 

40x80 Plastic 

cap

85

 Default 50 Red strip84

 Aluminum-

6061

 1 EL-02-121-Ar

m

83

 Steel, MildBroached Hexagon Socket Flat Countersunk 

Head Cap Screws - Metric

8 ASME/ANSI 

B18.3.5M - 

M10x40(2)

81

 ST 52 2 EL-02-144-Stif

fness bearing 

plate

80

 Steel, MildHex Bolt2 ANSI 

B18.2.3.5M - 

M8 x 1.25 x 16

79

 Steel, MildMetric Plain Washers4 ANSI 

B18.22M - 8 N

78

 Steel, MildBroached Socket Head Cap Screw - Metric4 ANSI 

B18.3.1M - 

M3x0.5 x 16

77

 ST 37 2 EL-02-136-Se

nsor nut plate

76

 Default 2 Proximity 

sensor 

XS7E1A1DAL

5

75

 ST 37 1 EL-02-135-Se

nsor mini plate

74

 ST 52Sensor trigger1 EL-02-118-Sto

per

73

 Default 2 EL-00-c1272

 Default 3 EL-00-c371

 Default 1 EL-00-c1068

 Default 4 EL-00-c467

 Default 10 EL-00-c166

 Default 2 EL-00-c765

 Default 1 EL-00-c564

 Default 1 EL-00-c663

 Default 1 EL-00-c862

 Default 1 power 

controller

60

 Default 1 controller59

 ST 52 1 controller 

holder plate

58

 ST 37 1 EL-02-112-Co

ntrol panel 

plane

57

 ST 52 1 EL-02-117-Ba

se sides

54

 ST 52 1 EL-02-116-Stif

fness 

horizontal 

plate

53

 ST 52Holder for motor moment arm.1 EL-02-107-Mo

ment arm bar

52

 ST 52Mechanical stop bar.2 EL-02-106-Sto

p bar

51

st-37 plate 

t=10mm

ST 37BASE PLATE1 EL-00-102-bo

dy

50

 Steel, MildHex Nut8 ANSI B 

18.2.4.1 M - 

M10 x 1.5

49

 Steel, MildSpring Washer8 DIN 128 - A1048

 Steel, MildWasher8 DIN 125 - A 

10.5

47

 Steel, MildBroached Hexagon Socket Set Screw - Flat 

Point

4 ANSI 

B18.3.6M - 

M6x1 x 8

46

 Steel, MildSpring Retaining Ring1 DIN 471 - 30 

x 2

45

 SteelMotor Manual Operation Handle1 EL-00-303-act

uator

44

 Default 1 1143

 Default 1 1042

 Default 1 941

 Default 1 840

 Default 1 739

 Default 1 638

 Default 1 537

 Default 1 436

 Default 1 335

 Default 1 234

 Default 1 133

 ST 52Sensor triger or stoper1 EL-02-108-Se

nsor triger

32

 ST 37 1 EL-00-701-Ar

m Holder

31

 SS 

304L-Cold 

Rolled

 2 EL-02-114-Sto

per Keyway

30

 SS 

304L-Cold 

Rolled

Motor Keyway1 EL-02-113-Mo

tor Keyway

29

 SteelMotor axis actuator1 EL-02-105-Mo

tor axis bar

28

 Default 2 UCF generico27

 SteelShaft cover - closed side1 EL-00-209-cov

ers

26

 ST 37Shaft cover - arm side1 EL-00-210-cov

ers

25

 ABS 

Plastic

Front Plastic Cover1 EL-00-208-cov

ers

24

 Stainless 

Steel

s.s lock1 SZ-2304000 - 

rittal stainless 

steel lock

23

 Stainless 

Steel, 

440C

Hex Nut8 ISO 4032 - M422

 Steel, MildWasher7 DIN 125 - A 

4.3

21

 Steel, MildCross Recessed Flat Countersunk Head 

Machine Screw - Type IA - Metric

3 IFI 513 - 

M4x0.7 x 40

20

 Aluminum-

6061

 1 071007 - 

Magnetic 

sensor 

BS-2071 

(magnet)

19

 Aluminum-

6061

Magnetic sensor for Maintenance door1 071007 - 

Magnetic 

sensor 

BS-2071 

(main)

18

 SteelMaintenance door1 EL-00-212-cov

ers

17

 SteelMaintenance door step1 EL-00-211-cov

ers

16

 SteelBack cover1 EL-00-207-cov

ers

15

 SteelZ front cover holder (down side)2 EL-00-206-cov

ers

14

 Steelz front cover holder (upper side)2 EL-00-205-cov

ers

13

 SteelZ front cover holder1 EL-00-204-cov

ers

12

 SteelBack cover foot4 EL-00-203-cov

ers

11

 SteelMaintenance door frame L=4332 EL-00-202-cov

ers

10

 SteelMaintenance door Frame L=2052 EL-00-201-cov

ers

9

 ConcreteConcrete block pouring1 EL-00-605-Co

ncrete base

8

 RubberPipe for electricity (Motor, Traffic lights). OD 

23mm, ID 21mm

4 EL-00-604-Co

ncrete base

7

 RubberPipe for control box.OD 36mm, ID 34mm1 EL-00-603-Co

ncrete base

6

 Steel, MildHex Nut4 ANSI B 

18.2.4.1 M - 

M12 x 1.75

5

 Steel, MildCircular Washer4 IFI 542 - 124

 Steel, MildHex Bolt4 ANSI 

B18.2.3.5M - 

M12 x 1.75 x 

40

3

 ST 37Leg for main plate4 EL-00-602-Co

ncrete base

2

 ST 37Main plate1 EL-00-601-Co

ncrete base

1

BILL OF MATERIAL LIST

NOTESMATERIALDESCRIPTIONQTYDRAWING No.PART No.ITEM

1
1
1
5

2
9
0

3
8
0

459.89

7
8
0

8
0

4
0

 A Motor Gear

EL-04

up to 4 

m

0.55 kW,3-Phase, 1500 

RPM

1:60+PC1:3 (1:180)

EL-05

4 to 6 m

 

0.55 kW,3-Phase, 1500 

RPM

1:80+PC1:3 (1:240)

A



ALL DIMENSIONS ARE IN MM

Ratio: 

WEIGHT:

Drawned by :

23/11/2011

Designed by : Date Checked by : Date Approved by : Date

TITLE:

Part catalog number
Drawing No. Version

01

Sheet

2 /4 

Date

N/A

EL-GO

MaterialQty. per set Set Qty.

Victor Aynbinder
Victor Aynbinder

22/11/2011

1:10

EL-04/05 Manual

11

82

88

15

24

87

86

83



DETAIL E

1:10

DETAIL F

1:11

DETAIL G

1 : 4

DETAIL H

1:11

DETAIL I

1 : 4

ALL DIMENSIONS ARE IN MM

Ratio: 

WEIGHT:

Drawned by :

23/11/2011

Designed by : Date Checked by : Date Approved by : Date

TITLE:

Part catalog number
Drawing No. Version

01

Sheet

3 /4 

Date

N/A

EL-GO

MaterialQty. per set Set Qty.

Victor Aynbinder
Victor Aynbinder

22/11/2011

 

EL-04/05 Manual

E

F

G

H

I

MATERIALDESCRIPTIONQTYPART No.ITEM

ST 52Sensor triger or stoper1EL-02-108-Sensor triger32

ST 52Mechanical stop bar.2EL-02-106-Stop bar51

ST 52Sensor trigger1EL-02-118-Stoper73

ST 37 1EL-02-135-Sensor mini plate74

Default 2Proximity sensor XS7E1A1DAL575

Steel, MildBroached Socket Head Cap Screw - Metric4ANSI B18.3.1M - M3x0.5 x 1677

Aluminum-6061 1EL-02-121-Arm83

ST 37Rectangular arm holder1EL-00-702-Arm  holder86

Steel, MildBroached Socket Head Cap Screw - Metric4ANSI B18.3.1M - M8x1.25 x 1687

83

86
87

77

75

51

51

74

32

73

27

81

Motor



DETAIL A

1:4

ALL DIMENSIONS ARE IN MM

Ratio: 

WEIGHT:

Drawned by :

23/11/2011

Designed by : Date Checked by : Date Approved by : Date

TITLE:

Part catalog number
Drawing No. Version

01

Sheet

4 /4 

Date

N/A

EL-GO

MaterialQty. per set Set Qty.

Victor Aynbinder
Victor Aynbinder

22/11/2011

1:15

EL-04/05 Manual

A

EL-02

MATERIALDESCRIPTIONQTYPART No.ITEM

Steel, MildHex Bolt4ANSI B18.2.3.5M - M12 x 1.75 x 403

Steel, MildCircular 

Washer

4IFI 542 - 124

Steel, MildHex Nut4ANSI B 18.2.4.1 M - M12 x 1.755

THIS DOCUMENT IS PROPERTY OF EL-GO TEAM

LIMITED, AND IT MAY NOT WHOLLY OR PARTIALLY

BE COPIED, STORED IN A RETRIEVAL SYSTEM,

DISCLOSED TO THIRD PARTIES OR USED FOR

ANY OTHER PURPOSE OTHER THAN THAT FOR

WHICH IT IS SUPPLIED WITHOUT THE EXPRESS

WRITTEN AUTHORITY OF EL-GO TEAM LIMITED.

CONFIDENTIAL: THIS DRAWING & INFORMATION

IS THE PROPERTY OF EL-GO TEAM.

UNAUTHORIZED USE OR REPRODUCTION IS PROHIBITED.

 1000-2000           0.5

 

2000-5000            1.0

 

 

 

 

General (Unspecified) Tolerances for Machining

NOMINAL SIZE[mm]   TOLERANCE

1-300                   0.1

  

300-1000              0.2

 

 

 

 

NOMINAL SIZE[mm]   TOLERANCE

11

2

5

0

2

8

0

Arm barrier body

Concrete plate

5

3

4

5

0

0

5

0

0

5
0

0

1

81

31

Control Board

93


